Chapter 8 Answer Key

Apply What You Know

 page 185—The acromion is the most exposed and most commonly fractured part of the scapula. The rest of the scapula is well protected and padded by surrounding muscles. 


page 197—Despite the fact that there are fewer tarsals than carpals, both upper and lower limbs have 30 bones because the lower limb includes the patella.

Testing Your Comprehension
1. In children and adolescents, the femoral head is attached to the neck by a cartilaginous epiphyseal plate; this joint has not ossified yet. Cartilage is not as strong as bone, and trauma to the femur can cause the head and neck to separate along this line. Such a fracture in any long bone is called an epiphyseal fracture. Adolescents are especially at risk of epiphyseal fractures because their greater body weight (compared to younger children) puts more stress on the femur and their participation in sports and rough play, and their relatively high frequency of vehicular accidents, subject them to more trauma. 

2. When a woman wears high-heeled shoes, her weight is thrust forward onto the heads of her metatarsals, as in a cat or dog. Unlike a cat or dog, however, some of her weight is still supported through the calcaneus and the heel of the shoe.

3. The epiphyses of long bones fuse in a distinct pattern and this can be used as a tool for determining the age of individuals who have not yet achieved full adult growth. An examination of the pelvis would reveal whether the individual were male or female.

4. The fibula is a common source of material for bone grafts. It can not only furnish a large sample of bone, but since it does not support the body’s weight, removal bone from the middle of the fibula does not compromise mobility.

5. 
Andy could have fractured the tibiae or the femoral shafts, but since the EMT said he had broken his hips, the most likely site would be the necks of the femurs. (A fractured acetabulum is also possible.) Andy was able to jump from such heights as a child without injury because a child’s bones are more resilient and because a child, being lighter in weight, hits the ground with less momentum (force) than an adult, so the landing produces less stress on the bones. 

